SHSEHLE

NTFRERE
3E # 1= *E
~ NTFREZEZENILERLERER ~
4A1H ~4830A%E
EE@MAR EREE =R @RS BifdeER BERHE
4 B 1 EI a * 64 514
RH(1A~) a4t 64 144 104 144 1494
SR -9 —2 -4 -4 2 82
[FE@MARE(BER-BAH BEE)]
&S FEAK FEHRX EniEl BWER
1 4878 | 1430 | ~ [ 4878 [ 2230 AFEBLHEA BE 7L
[BEE1EE]
&S FEAK FEHX BEELIBRT
1 48158 1:36 #J’HNE BEsHA O AE-EEE O BEZOM
2 48168 | 11:30 ~ 48178 7:00 BEE O BEHHA A 1] O ®Ezof
3 48168 | 11:30 ~ 48178 7:00 BEE O BEHHA A 1] O ®Ezof
[Ettb]
&S HEEAK FEHMX HWEFOS
1 4848 16:00 ~ 4848 18:00 AF1H O HSREY EIESE ] [N
2 48148 17:30 ~ 48158 | 13:30 BHEHE ASREY O EIESE ] [N
3 48208 13:30 ~ 48208 | 15:30 BHEHE O HSREY EIESE ] [N
4 4R 28R 7:25 ~ 47288 7:35 S O ASREY O EIESE EER:S
[Esmtasl]
&S HEEAK FEHMRX BELF
1 4848 18:00 ~ 48108 | 1400 = HAT ANILAYRTA LA —
2 48118 | 17:00 ~ 48128 8:20 NFREFE YL
3 4R H 4] ~ 48178 | 19:00 HJRONE FoN—=TL—kr1#&
4 48228 | 10:09 Bl F735—
5 48238 16:00 ~ 48238 | 19:10 HJONE BEREOR
6 48238 16:00 ~ 48238 | 20:00 H"ONE BEEDIA+
7 4A EH) ~ 5H28 11:30 AHE A FUN—=TL—r1#k
[EiEdesEEk]
HWERR
il RLBR BEE wEam nERE &5
1 8A17H ~ 8H208 | 11:30 ZE (80 LG+ Fruah—R1#g BIHEE
2 8H208 | 1520 ZE(81%) i Frylah—R18& BRI
3 104208 | 4:30 ~ 12A8H | 10:06 i (65/%) 5% 4 (10,000M) FEERZE Dt
4 3A 108 9:30 ~ 3A118 9:38 Z i (607%) NFREL & (1,472,100M) FEERZE Dt
5 4818 15:23 ~ 4818 16:03 FBit(635%) BEHE 5% (1,961,400M) EftE
6 48208 | 13:00 ~ 48208 | 15:00 B4 (905%) KA Frylah—R4aiR BRI
[BEEE]
&S WX (54 SR X F L3 “% SREMm %
1 NFRE®K 174 RERRE o TDih st
2 BROEHER 14 HEER RS 64+ TDih 5&
3 BEHEBRX o RERRE 44 TDih 54




